14.01.21 Thursday Worksheet Y6

1 Complete the division questions below. You may draw a diagram to help you.

a) % 4=

b) §+3=

CETER
2 % of a kilogram of rice is divided squally between two bowls.

How much rice is In each bowl?
3 Work out the divisions.
1
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Write <, > or = 1o complete eoch stotement.

a) % +5 O % +3

1 1
b) 7t 3 O g+ ]
3 3

t) E 4 O &t 3

ghallenge: a) Which of these stotemants are true? Tick your answers.
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14.01.21 Thursday Worksheet Y6

1
a) 1 4 d=
E
b) 1+ 3=
CETER
2 % of a kilograom of rice is divided equally between two bowls.
How much rice is in each bowl?
3 Work out the divisions,
b) l% +3 q) %4- 1=
4 Write <, > or = to complete each stotemeant.
a) % +5 O % +3
b) % 43 O % +5
€) % + 5 O % +13
Challenge: | g) which of these statements are true? Tick your answers.
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